rendl light studio

R14330

WAVE

24V E/

Belt
Installation instruction

Grooves to prevent short
circuit between Belt

1. Diversified spatial scene design

Soft Belt, Independent use of design scenar—
ios, free design

Aluminum track and soft Belt used together
designing scenarios,free design

2. All lamps of Complete system can be
installed on: Ultra—thin surface mounted track,
Embedded track, Soft film track

Lamps are installed on aluminum tracks: the
lamps are directly installed on the tracks
Lamps are installed on flexible Belt: conver—
sion modules are added to the lamps and
installed on Belt




WAVE SYSTEM

‘' TE fexf=T g 028 o

Large Small Lo e et Lamp + Linker
Large fixed nodes + & Power supply +
Belt fived nodes Inp'ﬁmduh Buckle fixed nodes Lamp + Linker i

WAVE + VEGA SYSTEM COMBINATION:

— Q& Bl 8 08 laas

24V Large Large fixed nodes + Small )
%p;ver supply Belt fixed nodes Input module Buckle fixed nodes Lamp + Linker Lamp




1, INPUT
R14327 Input connection:

Parts list

4 1. Input module *1PCS
2. screws *1PCS

R14330 + R14327 Input connection:

Parts list

1. ring *1PCS

2. cylinder *1PCS

3. Base *1PCS

4. Belt pressure buckle *1PCS

5. M4x22 screws (CEILING)*2PCS

6. M4x16 screws (Pressing buckle)*2PCS
7. M4x8 screws (Track) *2PCS

No need
fo conpeciiae

‘\%’ﬁpos

Input module

M4x16 screws*2PCS for Pressing buckle Hole position,




1, INPUT
R14330 + 2x R14327 for two fabrics input connection:

Input module

R14330 + 2x R14327 extension for another fabric:

Woven track
input module




1, INPUT

R14330 + R14268/R14269 + R14328
WAVE fabric input connection by VEGA Driver:

[Eg o
! g

S B/

Parts list

1. Large fixed nodes *1PCS
2. Linker *2PCS
3. Power supply 100W or 200W *1PCS

~ &= / 10cm Cut off the outer
rubber of the wire




1, INPUT
WAVE input connetion by R14330 + R14327 and VEGA system:

M4x16 screws*2PCS for Pressing buckle Hole position




2, FABRIC INSTALLATION
R14331:

Parts list

1. Base *1PCS

2. rectangular box *1PCS
3. screws *2PCS

4. screws *2PCS

R14330:

Vertical bending




2, FABRIC INSTALLATION
R14330 on VEGA system:

R14329 end clip:

Parts list
1. Belt double clip *1PCS

2PCS




3, LIGHT INSTALLATION
R14316 — R14324 + R14328:

Parts list
1. Linker *2PCS




(EN) CAUTION!

Turn off the main power at the circuit breaker before proceeding with

the installation in order to prevent possible shock. The shade can
easily be damaged, so please take care when handling. The
important safeguards and instructions in this manual are not meant
to cover all possible conditions and situations that may occur. A
qualified installer must perform the installation.

(DE) ACHTUNG!

Vor der Installation ist es notwendig, den Hauptstromkreis zu
unterbrechen, um die Intervention von Stromschlag zu vermeiden.

Vorsichtig Griff mit Leuchtenschirm, weil es zerbrechlich ist. Wichtige

vaaratilanteita, joita voi sattua. Ammattitaitoisen asentajan tulee
suorittaa asennustyo.

(HR) UPOZORENJE!

Prije ugradnje potrebno je odspajiti glavni strujni krug, kako bi se
izbjeglo intervenciji strujnog udara. Abazur nositi oprezno jer je
krhak. Vazne upute u ovom priru€niku za postavljanje ne odgovaraju
svim mogucéim situacijama koje se mogu pojaviti. Svijetlo se moze
instalirati samo od strane stru¢ne osobe.

(ES) ADVERTENCIA!

Hinweise in diesem Installationanleitung passen nicht alle maglichen Antes de la instalacion, es necesario desconectar el circuito

Situationen, die entstehen kdnnen. Die Leuchte kann man nur von
einer Fachmannische installiert werden.

(FR) ATTENTION!

Eteignez I'alimentation principale au niveau du disjoncteur avant de
procéder a l'installation afin déviter tout risque de choc. La nuance
peut étre facilement endommagée, alors soyez prudent lors de la
manipulation. Les consignes de sécurité importantes et les
instructions contenues dans ce manuel ne sont pas congues pour

eléctrico principal para evitar la intervencion de electrocucion.
Manipule con el forro de luminaria con cuidado porque es fragil. Las
instrucciénes importantes de este manual de instalaciéon no
coinciden con todas las situaciones posibles que pueden ocurrir. La
luminaria solo puede ser instalada por una persona competente.

(PT) CUIDADO!

Desligue a alimentagao principal no disjuntor antes de prosseguir
com a instalagd@o para evitar possiveis choques. A sombra pode ser

couvrir toutes les conditions possibles et les situations possibles. Un ¢5ciimente danificada por isso,tenha cuidado a0 manusear.As

installateur qualifié doit effectuer I'installation.
(CZ) UPOZORNENI!

PFed instalaci je nutné odpojit hlavni elektricky okruh, aby se
predeslo zasahnuti elektrickym proudem. Se stinidlem manipulujte
opatrné, protoze je kiehké. Dulezité instrukce z tohoto instala¢niho
manualu neodpovidaji vSem moznym situacim, které mdzou nastat.
Svitidlo miZze instalovat pouze zpUsobila osoba.

(SK) UPOZORNENIE!

Pred inStalaciou je nevyhnutné odpojit hlavny elektricky okruh, aby
ste predisli zasiahnutiu elektrickym pradom. Stienidlom narabajte
jemne pretoze je krehké. Délezité inStrukcie z tohto instalaéného
manualu nezodpovedaju vSetkym moznym situaciam, ktoré moézu
nastat. Svietidlo méze instalovat iba spdsobila osoba.

(HU) VIGYAZAT!

Telepités el6tt valassza le a f6 elektromos aramkort az aramutés
elkeriilése érdekében. Ovatosan kezelje a lampaburat, mivel
torékeny. A telepitési utmutaté fontos utasitasai nem felelnek meg
az esetlegesen felmerulé helyzeteknek. A lampatestet csak
szakképzett személy szerelheti be.

(PL) OSTRZEZENIE!

Przed instalacjg nalezy wytgczy¢ zasilanie, aby unikng¢ porazenia
pradem. Z kloszem nalezy obchodzi¢ si¢ ostroznie, poniewaz jest
kruche. Wazne instrukcje z tej instrukcji obstugi nie spetniajg
wszystkich mozliwych sytuaciji, ktére moga sie pojawi¢. Urzgdzenie
moze by¢ instalowane wytgcznie przez osoby kompetentne.

(SE) VARNING!

Stang av strdmmen innan installation pabdrjas, for att inte riskera en
elchock. Skarmen ar bracklig och bor darfér hanteras extra varsamt.
De viktiga sékerhetsatgarderna och instruktionerna i denna manual
ar inte avsedda att tacka alla tdnkbara forhallanden och situationer
som kan uppsta. Installationen maste utféras av en el-certifierad
person.

(DK) ADVARSEL!

Sluk for jeres elektrisitet inden i installerer armaturet, pa grund af
risk for elektriskt sted. Skaermen til lampen er enkelt beskadigt, sa
veer venligst forsigtig ved handtering af den. De
sikkerhedsforanstaltninger og instruksioner som er i denne manual
menes ikke at daekke alle betingelser og situationer som kan opsta.
Dette armatur ma kun installeres af en kvalificeret elektriker.

(F1) VAROITUS!

Katkaise paavirta katkaisijasta ennen asennuksen jatkamista
estaaksesi mahdollisen séhkoéiskun. Varjostin voi vahongoittua
helposti, joten huomioi tdma kasitellessasi tuotetta. Tdman oppaan
turvallisuusohjeiden ei ole tarkoitus kattaa kaikkia mahdollisia

salvaguardas e instru¢des importantes neste manual nédo se
destinam a cobrir todas as condic¢des e situagdes possiveis que
possam ocorrer. Um instalador qualificado deve executar a
instalacao.

(IT) ATTENZIONE!

Spegnere l'alimentazione principale dell'interruttore prima di
procedere con l'installazione per evitare possibili scosse.L'ombra
puo essere facilmente danneggiata, quindi fare attenzione quando si
maneggia. Le importanti missure di sicurezza e le istruzioni
contenute in questo manuale non intendono coprire tutte le possibili
condizioni e situazioni che possono verificarsi. Un istallatore
qualificato deve esegurie l'installazione.

(GR) MPOZOXH!

Mpiv TNV eyKATAOTAON,ATTEVEQYOTTOINOTE TNV KUPIA TTOPOXT PEUPATOG
OTOV TTiVOKa GOQAAEIag, YIa va atro@UyeTe TTIBAVEG NAEKTPOTTANGIES.
To okioaoTpo pTropei EUKOAQ va KATAGTPAPEI, YI 'auTO VO TTPOCEXETE
Katd Tn Xxpron Tou. O1 onuavTikég Slao@alioelg Kal odnyieg oTo
TapdV eyxelpidio Bev yiveral va KaAUWouv OAeg TIG TNIBavEG GUVOKEG
KOl KATAOTACEIG TTOU PTTOPET va cupBoUv. Evag e€eIdIKeupévog
NAEKTPOAOYOG TTPETTEI VO EKTEAECEI TNV EYKOATACTAON.

(NL) WAARSCHUWING!

Schakel de hoofdstroomonderbreker uit voordat u doogaat met de
installatie om mogelijke schokken te voorkomen. De kap kan
gemakiljk worden beschadigd, wees dus voorzichtig tijdens de
behandeling van het product. De instructies en
veiligheidsmatregelen in dit document zijn niet volledig voor alle
mogelijke complicaties die kunnen optreden. Een gekwalificeerd
persoon moet de installatie uitvoreren.

(BG) BHUMAHUE!

Mpeon MoHTUpaHe Ha yCTpOVICTBOTO € HY>KHO [a U3KIN4nuTe ToKa, B
MACTOTO KbAETO paGOTVITe, 3a fa n3berHete TOKOB yoap. C
OCBETIINTENHOTO TANO MaHI/IﬂyﬂI/IpaVITB BHMUMaATENHO, 3a Aa
n3berHete noespeja. BaxHu UCTYKUMKU OT TOBa PbKOBOACTBO 3a
MHCTanauua, He e 3agbJDKUTENHO Aa OTroBapAT Ha BCUYKU
BBb3MOXHU CUTyaLUU, KOUTO MoraT Aa Bb3HUKHAT. MpenopbyBa ce
OCBETUTENTHOTO TANO Aa Ce BKIK4YBa OT ONUTEHO 3a TOoBa nuue.

(RO) ATENTIE!

Mai inainte de instalare, trebuie sa deconectati circuitul electric
principal pentru a preveni electrocutarea. Cu abajurul trebuie de
manipulat cu atentie, este foarte fragil. Instructiunile importante din
acest manual de instalare nu acopera toate situatiile posibile care
pot aparea. Acest corp de iluminat poate fi instalat numai de céatre o
persoana calificata pentru acesta lucru.



